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Ответы

1. C

2. C

3. C

4. D

5. D

6. B

7. B

8. C

9. B

10. C

11. C

12. A

Определите под какой буквой находится правильный ответ.

1) 2 × 8 = 16
16 : 2 = 8
16 : 8 = 2
A. 11 : 2 = 9
B. 2 : 16 = 8
C. 8 × 2 = 16
D. 16 × 2 = 18

2) 6 × 9 = 54
9 × 6 = 54
54 : 6 = 9
A. 9 : 54 = 6
B. 6 × 54 = 9
C. 54 : 9 = 6
D. 54 × 9 = 63

3) 3 × 7 = 21
7 × 3 = 21
21 : 3 = 7
A. 4 × 7 = 11
B. 21 × 7 = 28
C. 21 : 7 = 3
D. 28 : 3 = 25

4) 9 × 2 = 18
18 : 9 = 2
18 : 2 = 9
A. 18 : 9 = 9
B. 27 : 2 = 25
C. 2 × 18 = 9
D. 2 × 9 = 18

5) 4 × 3 = 12
12 : 4 = 3
12 : 3 = 4
A. 12 : 4 = 4
B. 4 : 12 = 3
C. 16 : 3 = 13
D. 3 × 4 = 12

6) 10 × 8 = 80
80 : 10 = 8
80 : 8 = 10
A. 80 : 10 = 10
B. 8 × 10 = 80
C. 90 : 8 = 82
D. 19 : 10 = 9

7) 9 × 10 = 90
90 : 9 = 10
90 : 10 = 9
A. 90 : 9 = 9
B. 10 × 9 = 90
C. 99 : 10 = 89
D. 11 × 9 = 20

8) 2 × 10 = 20
10 × 2 = 20
20 : 10 = 2
A. 20 : 10 = 10
B. 13 : 10 = 3
C. 20 : 2 = 10
D. 30 : 2 = 28

9) 2 × 4 = 8
8 : 2 = 4
8 : 4 = 2
A. 8 : 2 = 2
B. 4 × 2 = 8
C. 10 : 4 = 6
D. 5 × 2 = 7

10) 3 × 6 = 18
18 : 6 = 3
18 : 3 = 6
A. 24 : 3 = 21
B. 18 × 6 = 24
C. 6 × 3 = 18
D. 10 : 6 = 4

11) 5 × 10 = 50
50 : 5 = 10
50 : 10 = 5
A. 55 : 10 = 45
B. 50 : 5 = 5
C. 10 × 5 = 50
D. 11 × 5 = 16

12) 8 × 9 = 72
9 × 8 = 72
72 : 8 = 9
A. 72 : 9 = 8
B. 18 : 9 = 9
C. 72 : 9 = 9
D. 9 × 9 = 18
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